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L This paper consists of nine (9) questions in sections A, B g
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SECTION &

. (@] What are enzymeqy
i) Write an cssay on enzymes using the following headings,
(i) Allzsieric inhibiiors
(i) Negative feedback inkibition
Gil)  Nen-competitive irreversible inhibition. Give two 2 examples.
- Aa)  Explain baw plasmaodium i adnpted 10 its mode of fife

(B} Draw a well labelied dingram of Fuglena and explain hew i resermlbles both plants and animals,

SECTION B

Answer at least one (1} question from this section,

{a) E KP'&in how the aclivities of many El:n.d's. of the veriehrate Il'l-il'l?al EIE mgu|a|gﬁ_
(b Why are the sound réceptar cells of the ear called mechanorecenton’

&t dn-ﬁcrib‘ the rales of pancreas and liver in digestion and metabolism of the end produsts of
ig=ation.

(8} How is the small intestine adapted to its role of absarption”

Expiain the following observations as fully as passible:
(a) Sacculent plants can be found in both deserts and salt marshes.
(b} Marine tzleosts (bony fish) excrete large quantities of ions, espectally Ma®, CF, Mg"™ and 50,

e} Animabe that live in the dry habitats tead 1o have much langer loops of Henle than animals thas
live where water is freely available,

{d) Eating a very sally meai leads o reduced urine cutput

With reference ta flawering plants and mammals, give an account on the importance of transport giving
speci [fe examples:

The diagram below shows the process of sperm farmation in-a mammalian testis
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9. {m)

(i)

Explain why cells A and B are genetically identical,
Diescribe two (2) ways in which cell division causes
Bricfly describe how the process of gamets formation
large gametes 10 be produced in o female Lﬂmri:llénd e
Both tesiis and ovary contain a large number o

specific function of these organs is associated with these blood vessels?

cells Cand [rto be penetically different.
in an ovary leads o a smaller number of

fs. Oiher than sell division, what

SECTIONC

What do you undersiand by the tesm organic evolution?
Explain how the following processes lesd to organic evolution,

(i) Cenetic recam bliation,
(i} Mutation.
{Eiiy Natural selextion,

(iv) Geographic Iselation,
Befine the following,

(il Carrying capocity

(i) Poputation,

(51} Environmental resistance,

The pogulation size of dove in & certaln srea was estimated to incsease from 20 doves in 1960 to
F0f dowes in 1962 The female dove can produce two offspring per year. Fram this information:
(&) Calculate the carrying capacity of that asea

(i) Caleulate the intrinsic eate of increase.

(i} What will happen if the population increase is almose equal 1o carrying capacity?
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